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Solve for 0 in the equation

Sin (20 - 10) = -0.5 for 09 <0 <3600 (3 marks)

A rostrum whose vertical height is 4cm is formed by cutting the top of a cone parallel to the base if the two radii of the
frustrum are 6cm and 8cm respectively, determine the height of the original cone. (3 marks)
An alloy is made of aluminium, zinc and copper in the ratio 3 : 2 : 5 by mass. Find the mass of aluminium in a piece of
alloy which contains 5.75 kg of copper. (2 marks)

In the circle below, ABCD is a cyclic quadrilateral angle ABC = 70°, Angle BCF = 40° and angle CED = 359 if FCG is
tangent to circle at C

Calculate
(i) «£GCD (1 mark)
(ii) £ BCD (1 mark)
(iii) £ BAD (1 mark)
The table below shows marks scored by 40 students in a mathematics test;

M arks 30-39 40-49 | 50-59 60-69 | 70-79

No of students 2 10 13 8 7
Calculate the median mark (3 marks)

SECTION II: 50 MARKS
(Answer any five questions)

Jane is a Sales executive earning a salary of KSh. 20,000 and a commission of 8% for the sales in excess of KSh.
100,000. If in January 2010 she earned a total of KSh:'48,000 in salaries and commissions.

(a) Determine the amount of sales she made in that month (4 marks)
(b) If the total sales in the month of February and March increased by 18% and then dropped by 25% respectively.
Calculate
(i) Jane’s commission in the month efFebruary (3 marks)
(ii) her total earning in the month‘of March (3 marks)

(a) Fill in the table below for théffunctiony = 6 + x - x?
X -4 | -3 -2 a 0 [1]12]3]4]5

y -6 6 0 -14
(b) Using the completed-table values, draw graph of y = 6 + x - x2 taking integral values of
xin-4<x<5 (3 marks)
(c) Using the same axes draw the graph of y = 2 - 2x (2 marks)
(d) From your graph, find the values of x which satisfy the simultaneous equations
y=6+x-x?andy - 2x (1 mark)
(e) Write down and simplify a quadratic equation which is satisfied by the values of x where the two graphs intersect.

(2 marks)
Alorry left town A for town B at 6.50 p.m at an average speed of 60km/hr. After 1 hr 45 mins a car left two A for B at
an average speed of 90km/hr. If Ais 317 from B. Determine

(a) the distance of the lorry from town B when the car took off (3 marks)
(b) The distance the car travelled to catch up with the lorry (4 marks)
(c) What time of the day did the car catch up with the lorry? Give your answer in 24 hr system (3 marks)

Four towns P, Q, R and S are such that town Q is 150km on a bearing of 070° from town P. Town R is 200km on a
bearing of 160° from town Q. Town S is due west of town R and 135km due south of town P.

(a) Draw a sketch diagram showing the positions of towns P, Q, R and S. (1 mark)
(b) Without using scale drawing calculate
(i) the distance PR (3 marks)
(ii) to 2 s.f the bearing of P from R (3 marks)
(c) Calculate to the nearest whole number the distance RS (3 marks)
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